A £ 0l & AF & S

Al A

FA SAAIS
Hm: Lol=x =X
ChSl: TOH-Ol MEOE Xgl (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXIAFS 1t 216,968,669 216,334,904 633,765
= 175,771,812
[ 3,374,043
AltI 30,585,214
-l 7,237,600
o=k 58 193,779,426 193,724,246 55,180
= 163,148,212
[ 3,374,043
AlH] 21,701,548
Tl 5,505,623
Mot detoty X2 182,976,765 182,976,765 0
= 159,586,454
= 3,374,043
AlHI 17,260,568
-l 2,755,700
DIESSEINI=) 177,310,288 177,310,288 0
= 169,586,454
AlHI 15,951,451
Tl 1,772,383
301 LEtE N = 177,310,288 177,310,288 0
= 169,586,454
AlH] 15,951,451
Tl 1,772,383
01 ARIE2EHSFS(RRNEERTHE) 177,310,288 177,310,288 0
OJl=¢= 177,310,283,000& 177,310,288
= 159,586,454
Alt] 15,951,451
Tl 1,772,383
d24E FRaA 247,958 247,958 0
AlHI 123,979
Tl 123,979
307 elzto| & 247,958 247,958 0
AlHI 123,979
-l 123,979
05 212+ =S 247,958 247,958 0
O3dzAad REa4 247,958,000 247,958
AlHI 123,979
Tl 123,979
NAS THOHZ QIALAHEHE 200,562 200,562 0
AlH] 100,281
Tl 100,281
307 elzto| & 200,562 200,562 0
AlHI 100,281




A SXAMS D
Hm: Lol=x =X
Rl TOM-Ql MEOLY X|®l (Shol: % 2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
-l 100,281
05 git?(& = 200,562 200,562 0
ORAS THIH=O! AAHHE
200,562,000 200,562
Albl 100,281
- 100,281
SOE LOlMUXIE 324,000 324,000 0
AlHI 324,000
301 22N = 324,000 324,000 0
Albl 324,000
02 MBI 2HASFS(HAAS, XNLHE) 324,000 324,000 0
Qolet ZOIKICH I
324,000,000 324,000
AltI 324,000
COIESSAHIA R 4,639,844 4,639,844 0
= 3,247,886
Alt] 695,979
- 695,979
307 212t01™ 4,639,844 4,639,844 0
= 3,247,886
Altl 695,979
el 695,979
11 ARRIEXAIEE X 4,639,844 4,639,844 0
OzQIRBESZAHIA R
4,639,844,000& 4,639,844
s 3,247,886
AlHI 695,979
el 695,979
SHO - SSHL! SSHMAMMEIA 254,113 254,113 0
s 126,157
AlHI 64,878
el 63,078
307 @I2t01 & 254,113 254,113 0
[ 126,157
AltI 64,878
-l 63,078
05 git?(& = 254,113 254,113 0
OSHEL - S5 SsSHHAAHIA
254,113,000 254,113
[ 126,157
AltI 64,878
-l 63,078
Colgiitel 3 & ootgs XN 7,278,482 7,231,242 47,240
= 2,940,758




2A:

Hm: Lol=x =X
ool LolgTiel #E Y 0DIES XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 1,939,741
Tl 2,397,983
colgiiel & AtelESKIE = 5,400,000 5,400,000 0
= 2,700,000
Albl 1,350,000
Tl 1,350,000
307 212+01& 5,400,000 5,400,000 0
= 2,700,000
AltI 1,350,000
-l 1,350,000
05 git?(& = 5,400,000 5,400,000 0
OLoIgI2l AlIXIE
5,400,000,000& 5,400,000
= 2,700,000
AltI 1,350,000
-l 1,350,000
ALIGIEE =292 249,140 241,940 7,200
Al 205,650
Tl 43,490
307 glztol & 249,140 241,940 7,200
AlH] 205,650
T4l 43,490
05 2IHRIE S 249,140 241,940 7,200
OAILIOIZE 29 241,940,000 241,940
AltI 205,650
2| 3,290
OAILIOIZE Yxt2 Xig
7,200,000 7,200
Z2E & - el 2 2= XA 481,516 481,516 0
= 240,758
AlHI 120,379
Tl 120,379
307 @I2t01 & 481,516 481,516 0
= 240,758
AltI 120,379
24| 120,379
11 Bl = XA X 481,51 481,516 0
O W - LYy W 22| XK
481,516,000& 481,516
= 240,758
AltI 120,379
-l 120,379
d=zd =29 630,240 624,000 6,240
Albl 182,700




A SXAMS D
Hm: Lol=x =X
oelr Loliiel s & ootgs X (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
-l 447,540
307 gl2tol & 630,240 624,000 6,240
AlHI 182,700
-l 447,540
11 AR SXIAIEE X 630,240 624,000 6,240
ozdzg 29 X 630,240,000 630,240
Alt] 182,700
- 447,540
0S= 32 29 N 66,600 66,600 0
307 212to1d 66,600 66,600
10 Al SXAAEEHE 22X 66,600 66,600
Ollss d=2¢g =2¢ AN&
66,600,000 66,600
22YeeE2 08 2elAt Hixl 43,144 43,144 0
AlHI 21,572
el 21,572
307 212t01& 43,144 43,144 0
Alt] 21,572
- 21,572
11 AR ZXAIE 2= 43,144 43,144 0
OF2Y =5T2I 22Xt HX
43,144,000& 43,144
AlHI 21,572
-l 21,572
Y 2435 AtY 24,000 27,800 A3,800
AlHI 12,000
el 12,000
307 @I2t01 & 24,000 27,800 23,800
Alt] 12,000
- 12,000
11 ARRIZXAIE E 24,000 27,800 23,800
OZ=zd gdat X# 24,000,000 24,000
AlH] 12,000
- 12,000
d2g 2 168,360 157,960 400
201 eer23y| 4,360 4,360
02 S3=gHl 4,360 4,360
OQIHHARs & PC 2= 3,960,000 3,960
OLEILRXN G 0tSHE AHAIE HHEA
400,000 400
301 EtE NS 24,000 23,600 400
02 MBI 2HHSFHS(HAANS, XLHE) 24,000 23,600 400
OZz 2=2E A= 24,000,000 24,000




2A: SXALE
Hm: Lol=x =X
&l Lolgitel &5 L ootes XA (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
401 AIEBIZ20HbI 80,000 80,000
01 Al&HI 80,000 80,000
OZ=Y B 80,000,000 80,000
405 Xtk S| 50,000 50,000
01 AL =ZF S| 50,000 50,000
o3zd =3 XA 50,000,000& 50,000
Lolwal 2EXIR 32,400 32,400 0
Albl 19,440
-4l 12,960
307 QIZ2t01 A 32,400 32,400 0
Al 19,440
-4l 12,960
11 AR SXAMEEER 32,400 32,400 0
Okolual 29 X3 32,400,000& 32,400
Altl 19,440
sl 12,960
Lol HEAMHIA KR 137,082 155,882 A 18,800
203 HRF&lY| 2,034 2,034 0
03 A FAIH R FAIH| 2,034 2,034 0
OLCI=XAIE SAR 2t 3l
500,000 *90% 450
OAIGt-S01E SAIH2E HRFX
630,000 *90% 567
OsXIAHIA HRFF 500, 000 *90% 450
OLoIti2g gdfF4
630, 0003 *90% 567
301 LetENZ 135,048 133,848 1,200
2 A BEHHZ(HAAHS, NYHA) 12,000 12,000 0
OMASE LML HEEER
12,000,000 12,000
10 Al =SRLABAZS 1,848 1,848 0
OISR AERRI SAH|
, 0003 x 1222+ 123 1,848
14 J|Et2 42 121,200 120,000 1,200
OXNESAMAEE &SH| XA
50,0003 x202H x12& 121,200
ototdle &4 & 2% 56,000 0 56,000
Altl 28,000
sl 28,000
201 B2 AY| 53,000 0 53,000
Altl 26,500
sl 26,500
01 A=R2teld| 17,000 0 17,000




2A:

Hm: Lol=x =X
&l Lolgitel &5 L ootes XA (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Odtotlle] 2g=5 7Y
17,000,000 17,000
AlHI 8,500
Tl 8,500
02 S3=gHl 12,000 0 12,000
OJlotie 832= S 12,000,000& 12,000
Altl 6,000
Tl 6,000
03 Ar=EHI 24,000 0 24,000
Odtotdle 2 2
24,000,000& 24,000
AlHI 12,000
Tl 12,000
203 =8| 3,000 0 3,000
AltI 1,500
Tl 1,500
03 A=A 2= 3,000 0 3,000
OvdlotdlE R=al 3,000,000 3,000
Al 1,500
Tl 1,500
LolAIE 2HAIZ 2,234,019 2,234,019 0
= 621,000
Al 1,613,019
LZ AL 2STHI(HEAIY) 894,843 894,843 0
AltI 894,843
307 elztol & 894,843 894,843 0
AlHI 8%4,843
10 AlISXAZEE 22X 894,843 894,843 0
OgdZAE 28 X2 894,843,000 894,843
Altl 894,843
COIRAAE SAA SX=E X 232,560 232,560 0
AlHI 232,560
307 glztol & 232,560 232,560 0
AlHI 232,560
10 Al SXAEEE 22X 232,560 232,560 0
COIRUAE SAHL =K==
232,560,000 232,560
Alt] 232,560
HASH(2HAIE) 690,000 690,000 0
= 621,000
AltI 69,000
301 2eEN= 690,000 690,000 0
= 621,000




2A:

Y Lol=T| B
&Rl Lol=HAlE 2R (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 69,000
01 A BEA > Z(SLEETHA 690,000 690,000 0
OL2ENAIE YAaXt MAH=H
690,000,000 690,000
= 621,000
AlHI 69,000
MOtEoI=XIAIE 29| XIS 416,616 416,616 0
Alt| 416,616
307 gIzHol 416,616 416,616 0
Al 416,616
10 Al SXAEHE2EHIEX 416,616 416,616 0
OMIILISXIALE 29| X2
416,616,000 416,616
AltI 416,616
LolsXE 22 ¥ Uigtels XA 1,290, 160 1,282,220 7,940
AlHI 888,220
sl 401,940
AMOIAIETH OISR 2 2Y 495,480 495,480 0
AltI 353,280
=t 142,200
307 gIzHol 495,480 495,480 0
Al 353,280
=4l 142,200
05 2IZ2tRES 495,480 495,480 0
OASAIETH = oISX 2 29
495,480,000 495,480
Al 353,280
-4 142,200
AMEEAIF oIEX2 29 495,480 495,480 0
AlHI 353,280
=t 142,200
307 gI2Hol 495,480 495,480 0
Al 353,280
4| 142,200
05 2IZ2tRES 495,480 495,480 0
OXTEAMSETH =SR2 29
495,480,000 495,480
Al 353,280
-4l 142,200
MEARTHEISA2 2Y 230,560 230,560 0
AlHI 163,660
=l 66,900
307 gI2tol ™ 230,560 230,560 0
AltI 163,660




2A:

Hm: Lol=x =X
ool LoISXB 2% o (fEHolEl X (crel: g)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
] 66,900
05 QIZtIRIE = 230,560 230,560 0
OMNBAIZTH I SX 2 29
230,560,000& 230,560
Albl 163,660
2| 66,900
LoISXg2 e 5,000 0 5,000
401 A HIYLL20HY| 5,000 5,000
01 Al&HI 5,000 5,000
OLoI=X3sl2 e+ 5,000,000& 5,000
CHet=0lsl SUESAtY K& 63,640 60,700 2,940
AlHI 18,000
sl 45,640
307 QIZtOIA 63,640 60,700 2,940
AlHI 18,000
2| 45,640
02 QIZHEAAMHE R 10,000 10,000 0
OLo=EXsd &5 XNJA(DEX SAF L A
AAIE) 10,000,000 10,000
03 QAN EE2IHIE X 53,640 50,700 2,940
Olst=2l3] 24| XA
53,640,000& 53,640
AlHI 18,000
] 35,640
ZoHel=Xl K& 23,115,867 22,557,056 558,811
= 12,623,600
Albl 8,883,666
2| 1,608,601
HOoHel=Xl S& 19,276,312 18,729,381 546,931
= 12,571,650
AlHI 5,126,489
-l 1,578,173
ZoHeIHZ 6,136,886 6,136,886 0
= 4,295,820
AlHI 1,841,066
301 EtEXZ 6,136,886 6,136,886 0
= 4,295,820
AlHI 1,841,066
01 AISIBE XS (2 REXZE) 6,136,886 6,136,886 0
O&eIdA= 6, 136,886,000 6,136,886
= 4,295,820
Albl 1,841,066
EES=OIES) 1,140,000 1,140,000 0




2A:

SAIALS Dt

M ZOI=X X2
oels ZoieI=EX Sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 798,000
AltI 239,400
-l 102,600
301 EetE2 NS 1,140,000 1,140,000 0
= 798,000
AltI 239,400
-l 102,600
01 Al EE AT S (2 RDEXA) 1,140,000 1,140,000 0
OZH==(IIx) 1, 140,000,000 1,140,000
= 798,000
AlHI 239,400
Tl 102,600
=S (Xa2S) 502,100 502,100 0
= 361,470
AlHI 105,441
Tl 45,189
301 EtE N = 502,100 502,100 0
= 361,470
Al 105,441
Tl 45,189
01 AR 2EHSHS(RDNEERTHE) 502,100 502,100 0
OZ ==L (X&) 502,100,000 502,100
= 351,470
Albl 105,441
Tl 45,189
oI =SR2 380,000 380,000 0
AlHI 380,000
301 EetE2 NS 380,000 380,000 0
Albl 380,000
02 ALRI2E XSG (FHAAHS, NLWE) 380,000 380,000 0
Ol Mg 380,000,000 380,000
AltI 380,000
oty 4 % &= NEs N2 30,000 30,000 0
301 LEtE NS 30,000 30,000
02 ARSI 2 X LGS (FHAAHS, NLWE) 30,000 30,000
oty 24 & &= Xd= N
30,000,000 30,000
HEH0He S4HIE K& 6,000 6,000 0
= 4,200
AlHI 1,800
301 22N = 6,000 6,000 0
= 4,200
AlHI 1,800




S =XIARID
Hm: FOjOI=R X
el FOYOI=R B

RA - I BRA(E) - HRA - BES of vy A
01 A2 HSHS(RRNEERTH) 6,000 6,000
ONd &l SatHIE K&
1,200,000 +6H 6,000
= 4,200
Alt] 1,800
Zope! o=l X 207,99 207,995
= 166,3%
AlHI 41,59
308 AHXIHMSO0IA 207,995 207,995
= 166,39%
AltI 41,599
18 SIS0t 4 A A A 207,99 207,995
O&ofel 2l=Hl X2 207,995,000 207,99%
= 166,3%
Albl 41,599
NASEOHQ! e & A X1 10,000 10,000
= 5,000
AlHI 5,000
301 22N = 10,000 10,000
= 5,000
AltI 5,000
01 A BHAGZ(ZDEZME) 10,000 10,000
OMASZONQ el ¥ Al XI&
10,000,000& 10,000
= 5,000
Altl 5,000
ZOHRAUERID(THEERD|F) e 12,930 12,930
= 10,344
-l 2,586
301 2N = 12,930 12,930
= 10,344
el 2,586
01 Al EEHGIS (2 DEXTHE) 12,930 12,930
OFMASEIDN(MEERIIF) W
12,930,000 12,930
= 10,344
- 2,586
Zofel etaEdxte] X (HLH) 518,644 518,644
= 259,322
AlH] 259,322
301 2N = 518,644 518,644
= 259,322
AlHI 259,322




2A:
X XH -
o e

=aak

SAIALS Dt
I =X X

=X &

SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A2 HSHS(RRNEERTH) 518,644 518,644 0
OFope! eraAte! X (MLH)
518,644,000& 518,644
= 259,322
Al 250,322
ZoHel et tel XI&(AIZAl) 67,074 67,074 0
= 33,537
AlHI 33,537
301 22N = 67,074 67,074 0
= 33,537
AltI 33,537
01 A2 HSHS(RNEERTHE) 67,074 67,074 0
OFoHe! eraAte! X (AIZHM)
67.,074,000& 67,074
= 33,537
Alt] 33,537
el SAge e XA 238,680 238,680 0
= 119,340
AlHI 119,340
301 22N 238,680 238,680 0
= 119,340
AlHI 119,340
01 AR 2EHSHS(RNEXRTH) 238,680 238,680 0
Ol sXgLitel X2
238,680,000 238,680
= 119,340
Al 119,340
AZEOHIQHOAL TFA 140,000 140,000 0
= 112,000
AlHI 28,000
307 @I2t01 & 140,000 140,000 0
= 112,000
AltI 28,000
05 2IZtAE = 140,000 140,000 0
OAIZ EO0H I QtOFAF THAALS
140,000,000 140,000
= 112,000
Altl 28,000
OIS X (HHH) 5,520,000 5,520,000 0
= 3,864,000
AlHI 828,000
Tl 828,000
308 AXIHSOIA 5,520,000 5,520,000 0
= 3,864,000




2A:

SAIALS Dt

M ZOjOI=R| X
Rl ZoHeI=X S (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
AlH] 828,000
- 828,000
18 SIS0t & A AS A 5,520,000 5,520,000 0
OF oI &SI (HI2H)
5,520,000,000& 5,520,000
= 3,864,000
Alt] 828,000
- 828,000
ZoHESXNE=0 =IO 403,218 403,218 0
AlHI 362,896
Tl 40,322
308 AtXIEMSOIE 403,218 403,218 0
AltI 362,8%
-l 40,322
183 SIS0t 4R A AL S 403,218 403,218 0
O asXE=s0 I
403,218,000 403,218
Alt] 362,8%
- 40,322
EsEXINSEN 5,370 5,370 0
= 3,759
Alt] 1,611
308 AHXIEMSOIE 5,370 5,370 0
= 3,759
AlH] 1,611
183 S 2S0tetE 4R AS AL S| 5,370 5,370 0
OESEXIHEH 5,370,000& 5,370
= 3,759
AlHI 1,611
LEHEAEIA X 1,189,878 1,189,878 0
= 832,915
AlHI 178,482
el 178,481
308 AXIHMSO0IA 1,189,878 1,189,878 0
= 832,915
AlHI 178,482
-l 178,481
183 S 2S0tetE 4 EAS AL S| 1,189,878 1,189,878 0
O2LMEAMEIA XIE
1,189,878,000& 1,189,878
= 832,915
AltI 178,482
-l 178,481
HYY Ht*d X& 2,000 2,000 0




A SXAL I

M. HOHeI=X KA
o Hofel=Xl &
SA BB SR(BH) - NSAY - B 0l A
= 1,400
AlHI 600
308 KX SHMSOIN 2,000 2,000
= 1,400
Albl 600
13 I 2SHICHeHE & X2 E ALY 2,000 2,000
OAHLE XA 2,000,000& 2,000
= 1,400
AlbI 600
BLEXOHR R2AEXRA 4,000 4,000
= 2,800
AlHI 1,200
308 KX SHHMSOIN 4,000 4,000
= 2,800
AlHI 1,200
13 2| 2SHICHstE & X 2 E ALY 4,000 4,000
OgeRj =2 HZiNg N
4,000,000 4,000
= 2,800
AlbI 1,200
X! F=2HESMEBIAXIA 1,674,481 1,674,481
= 1,172,137
AlHI 251,172
=4l 251,172
308 AXISHHMSOIH 1,674,481 1,674,481
= 1,172,137
AlHI 251,172
| 251,172
13 2| 2SHICHeHE & X2 E ALY 1,674,481 1,674,481
OYEHOC! F2HESAEIA XA
1,674,481,000& 1,674,481
= 1,172,137
Altl 251,172
-4l 251,172
AW HEFOHC LdRFEHSMEIA KR 284,586 284,586
= 199,210
Albl 85,376
308 AIXISHMSOIH 284,586 284,586
= 199,210
AlHI 85,376
13 S| 2SH UEHE A X2 E ALY 284,586 284,586
OFLYE SO =SS AHEIA XA
284,586,000 284,586
= 199,210
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2A:

SAIALS Dt

ZE: Zojel=xl X
Rl ZoHeI=X S (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 340,000
Altl 145,715
308 AHXIHM SO & 485,715 0 485,715
= 340,000
Albl 145,715
13 SII 2 SOICHEH B & XL E ALY 485,715 0 485,715
OXSZLLHMY SHEZAMIA(EA]
E1:1) 485,715,000 485,715
= 340,000
Altl 145,715
delsSa SZHe! IE L XE2| A 81,216 0 81,216
AlHI 40,608
-4l 40,608
307 212+01 A 81,216 0 81,216
Altl 40,608
sl 40,608
05 QIZtRIEr S 81,216 0 81,216
OdHeI=e =SSR XEE LR2IAY
81,216,000 81,216
Altl 40,608
=t 40,608
OIS XIAIE K& 3,839,555 3,827,675 11,880
= 51,950
Altl 3,757,177
=l 30,428
Zopelsxa 29X 967,666 967,666 0
Altl 967,666
307 212+01 ™ 967,666 %7,666 0
Altl 967,666
05 QIZtAErZ 967,666 %7,666 0
OFI=NZ 2SN
967,666,000 967,666
Albl 9%67,666
Fopelsia s 23K 31,560 37,600 6,040
AlBI 22,092
-4l 9,468
307 212+01 A 31,560 37,600 A6,040
Albl 22,092
-4l 9,468
05 QIZtRIErZ 31,560 37,600 6,040
QeI =EX2 S 29X
31,560,000& 31,560
Altl 22,092
=l 9,463




FA SAAIS
B FojoI=T| X2
Rl ZOHI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
0 FUHESAIE 2EXE 858,074 858,074 0
AlHI 858,074
307 21201 & 858,074 858,074 0
Altl 858,074
10 Al SXAAEEHE 22X 858,074 858,074 0
OZ0jel =2+ ESAld 23X&
858,074,000 868,074
AlHI 858,074
JofeIXggel 22a8d 2SS 40,375 40,375 0
AltI 28,375
-l 12,000
307 @120l & 40,375 40,375 0
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AlHI 941,351
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AltI 8,960
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307 @I2t01 & 17,920 0 17,920
Albl 8,960
Tl 8,960
05 2ItRIE = 17,920 0 17,920
OFOjoI=X2 2224 X2
17,920,000 17,920
AlH] 8,960
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